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1. -“Mydad s in the navy, and he says that food is great on submarines” said Diana. “My mom is a
pilot,” added Jill, “and she says that airline food is potoriously bad.” “My mom is an astronaut
trainee,” said Julio, “and she says that astronauts’ food is the worst imaginable” Diana concludes “I
bet no life exists beyond Earth! As you move farther from the surface of Earth, food tastes worse.
At extreme altitudes, food must taste so bad that no creature could stand to eat. ‘Iherefore, no life
exists out there” What do you think of Diana’s reasoning? Is it inductive or deductive?

X poor usc of inductive rmsor\ing >There is no proof thod +Hne
food 1s actually ood,, just paople’s opinions. Trere was No
continuous po:htm TO NMke a conclusion.

2. If Shawn notices three people with backpacks get on the bus and sit on the right side. The next two
people do not have backpacks sit on the left side of the bus. He concludes that every person with a
backpack will sit on the right side and people without backpacks will sit on the left side. What kind of

reasoning is he using and is this a good example of that reasoning? Ihd\,\CﬁVe TCCLSO‘(\IY“% s
and o. lood example of it. There is no conrection berween
the \eft side /rigmt sice ofthe bus, and loack pociss.

3.  In complete sentences, explain what inductive reasoning is. Make sure to include the three steps.
Inductive reasoning is otype of reasoning wnere How
dhzevve data. recognize patterns ond creale a.conclusion

or coNEIUYe T is Simply o conclusSion bosed on
In exercises 4 and 5, find the next two terms in the sequence. DbSCVC‘JCh ons and ?O‘ﬂerns '

s 7,2,5,-3,8,-11, 2 , 7 |94 —30 - YO~ gres\.s.b‘t‘faCﬁ
== Ahe first numoer axd second Number

ge EFfa 1Tk NopaR "
5. AMLD,9H I6M25, 2, 2 S 3, - Svew other \eiter 1> I+ lexers
w5 +7 4 T T from the oSt cod evewy otiner
numer adds® +2° +othe previovs

In exercises 6 and 7, draw the next shape in the pattern. o.(ided - = =g

Scanned with CamScanner



¥

p .6;’5 Geometry: Chapter 2 Review

Name:

In exercises 8-11, find the nth term and the 20 term in the sequence.

8. Linear
n 1 2 3 4 5 6 | . n 20
f(n) |2 1 4 7 10 13 | e 3n+-S 55‘
x3 3
+3 4 ) .
)12 =2
ID+S =
9.
n 1 2 3 4 5 6 n 20
oD
f(n) 1 3 10 15 21 ﬂT 210
12 43 4 *S
ow\t\ Z \\2 20 |30 |u2 DD 29%)
, A \ 3|4 |5 || N
B ] 2 13 y I35 L | T |n+!
10.
n 1 2 3 4 5 6 n 20 T 5 gl !
-y =
filn) |10 30 56 88 126 |170 ((nst]ﬁ) Lo S TLF S
2 \s 18 [V T 2n+-d (20+ (32D )
(215D
Sle 718 a |io|n+4
11.
n 1 2 3 4 5 6 n 20
f(n) 6 3 0 -3 -6 -9 "3(]‘\":] _—5‘
b L - -
ighgg TEL A ™5 =B ~3(20)+9
-3+ =0
-3+ =3
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_",m exercises 12-14, find the measure of each lettered angle.

12. 13,
Lo \}12° =17
- \?_co 60° . _ 51\Y/5r° N
\ ﬂA{’Sl‘
=
o= 0°

b=120 0-=77"°
C=\20° b=52°
elake i 0
d=5|°

In exercises 15 and 16, find the solutions to the following problems

15. 16. 1fr| s findy.
’ /
4x — 30 y

. b ' 200-2%x=3X
56‘:-/*;/ L 20025
X -DAX= e

™ 2(; ot o4 | x=40]
L 1 21 -240) = Ty ~4%
BFEHT 13 ="Ty—H
MO ="y
In exercises 17 and 18, find the solutions to the following probléms. - 8  sm
17. The box is wrapped with two str.ips of .ribbon that wrap around /}0 o "
the entire box. What length of ribbon is needed to decorate the box? ~
10(2)+ B8(2)+ W) b
204 o+l -

I Hh2 oM |

18. Atone point in the race, Ironman was 13 feet behind the Hulk and 21 feet ahead of Captain America.
Captain America was Thor by 26 feet. The Hulk was ahead of Thor by how many feet?

D15 S . I |8 fect
i T S— >
CA I T n
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/" n exercises 19-24, fill in the blanks with conclusions or justifications.

19. Given: mZABC = m/DEF
Conclusion: £ ABC = /DEF

Justification: _J)Qﬁ'\ O’F = s

20. Given: Wbisects ZKX]J
Conclusion: _ & K ¥V = ¥ XD

Justification: DefT\ O‘F L biSf‘C\t)r

21.  Given: ZABC at the right. S <
2
1
Conclusion: . ™2\ ¥+Ma2 = ML PY%C A
D
Justification: Angle Addition Postulate
) ¢ 1121
22. Given: £ // m m 413
216
Conclusion: £2 = Z£7 }J 8

Justification: IA\‘ EA TY‘f‘DTQ‘(Y\

23. Given: J is the midpoint of KG G
—— T
Conclusion: Kl =G J
e.(lr T 3 K
Justification: D . UF 1BA) de 1 ass

24, Given: £1 and £2 are a linear pair.

Conclusion: Z1 and £2 are supplementary

Justification: L_\ eQy PO\Y WDVGXY\ .

=
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In problems 25 and 2¢

» Write the proof,

25. Given: £/ m, /1 = 45

4
Prove: 22 = 3 1 "
2 &

Conclusions Justifications
0. A, £|=£5 0. Glven
-y ] | Vertical < Thm,
3 29823 3. Transrhive
26. Given: AB = DE A
Prove: AB + CD = CE o 1
S b ' E
Conclusions Justifications
0. AB = Dt O. GINEN
\. AB = DE 1. Defin. of =s&3.
Z.C,D‘\“ED:CE ‘ZSAP '
3. AB+CD=CE 3. Subsiriudion
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